


()P s ()2 =2, (P ey =1, e () sa= L

X
a+b—c 9 @S ot

YR
=%



3. 2<x<13°]3,a<-2x+T<bQ W, a+7bh 2 322

D 0 ® 2 B 4 @ 6 B 8



4. 2<a<3°TA=1-2¢2 0, A 9] ge] HYE Lalola}.

>R
=%



02 5 x 7t 54 —02(x - 1) < -0.3(x - 2)
ERdote A7 obd A7

D 1 ® 2 3 3 @ 4



AFESA 0.2(x + 7) = 0.5(x + 1) 2] <]

0!
H

ftlo



o
o0& < 754

filo
e

Ao=w 19 A2

mlm

3
Da>0¥8 ", ax>3 = x> -
a
@a>0L W, ax-4>0 = x>

@ a<0@dW,ax-4>0 = x<

IS SNSRI

@ a>0¥8 ", ax+3>0 = x>—§
a

®a<0¥48 ", ax+3>0 = x<§
a



ARG A ax+2>3(4-x)+

a °| & kit

=g
=¥



3|7
Fx>4ddf

a
x—12>0 9

olJ
T
o|J
ofig

® 2
3 3
@ 4
B 5

D 1



10. dA4RSA ax<6-x 2 7t x> -1 4 0, a 9] 32 5t}

>R
c



11, of® 50 2 wjell 3:2 Mg 17 He} 2 57 S| ojsh Te
A% FoM 7V e 58 Fotolet,

s
=¥



12. xE3HE0 IV 7HG AT y=2Ht 3376 B 2R £ of) x
o 3ol y 2 Tl o] WYL o B 27 p RO} T G, of
o, b—a 9o 32?

@D 13 ® 14 3 15 @ 16 B 17



@ 10L

=2
at
=
1o
il
o
in}
e
K
[
o
__):l_v“
oo
1o
vl o
o
nj

3 121,



—

oA

=

sholat,

A 7

]

AFo|7 158 o] o] BRI BL 5 AS
ofo} sH=

ol Bk
ol &

- Th



@ Apelo) A



16.

TXa

Fotofet,
(

YR
-

_";/\Ai l?j‘j
Txnxp = =T Lretid 5

7N

SHA

g, b= AA0]T, 1 <a <10,



